REVISION WORK 
CLASS-2    SUB MATHS.
CHOOSE THE CORRECT OPTION
1) 25 +6 -7 =
a) 25      b)   24     c)  42     d)  30
2)   55m – 25m =
a) 30m    b)  32m   c) 40m   d)35m
3)  Identify the even number from the following:
a) 13        b) 77        c) 39       d)54

4) This fraction is read as:
a) One-Fourth  b) One-Half   c)One-Fifth  d) One-Whole  
5) 64 / 2 =___
a) 36     b) 32   c) 30    d)  13   
6) Write in centimetres:    5m 50 cm _____cm
a) 450        b) 550    c)  250      d) 350
7) 800 +100 -500 =____
a)  100      b) 200      c)300        d)  400

8) Identify the plane shape:
a) Oval      b) Triangle     c)Rectangle    d) Square
9) 658 + 135 =________
a) 793       b) 693          c)  893    d)700
10) Identify the odd number from the following:
a) 46         b)  84            c) 11       d) 66

